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General Awareness

How many Sattelite are there in Jupiter?

Who is the author of the book "Exam Warriors" ?

Who Founded Ram Krishna Mission?

The capital of Malasia?

Who won Australia Open in females singles?

Who is the finance minister of India?

India Rank in the world for Happiness Index?

Who is the owner of KKR Team in IPL 20187

Who was the Flag Bearer in Common Wealth Game Ceremony 2018?
Who is the current CM of Tamilnadu?

Who is the current CM of Nagaland?

Who is the Governor of Chattisgarh?

Who is the Chief Managing Director of Allahabad?

Who is the chairman of Indian Olympic?

Who got 1st Bharat Ratna of India?

Which among the following is not a ‘heriditary’ disease? Leukemia
2. “Daps one” immunotherapy is related to which among the following
diseases? Leprosy

3. Deposition of which among the following in the joints, causing
inflammation is reason of Gout, one of the forms of arthritis? Uric Acid




4. Brass gets discoloured in air because of the presence of which of the
following gases in air?Hydrogen sulphide

5. Light travels at the fastest speed in vacuum

6. Identify the vector quantity from the following Angular momentum

7. Sound travels with a different speed in media. In what order does the
velocity of sound increase in these media? Air, water and iron

8. One thousand microns is equal to 10-3m

9. Sound travels at the fastest speed in steel

9. Light travels at the fastest speed in vacuum

10. What is the India's GDP growth rate forecast for year 2018, as per
latest report by Moody's Investors Service?7.6 %

1 1. Which Indian lake becomes the largest habitat of Irrawaddy dolphins
in the world?Chilika, Odisha

12. Railway Ministry approved to install sanitary pad dispensers for 200
stations on .Mar 8th

13. Who launches Viral Load test for People Living with HIV/AIDS?J P
Nadda

Math

A man can row downstream at the rate of 24 Kmph and upstream at 7
Kmph. Find the man’s rate m still water and rate of current? — 15.5 Kmph,
8.5 Kmph

2. A train overtakes two persons who are walking in the same direction in
which the train is going, at the rate of 2 kmph and 4 kmph and passes them
completely in 9 and 10 seconds respectively. The length of the train is: —
50 m




e There were 03 ques from Geometry

A is three times more efficient than B. If they complete a work in 30 days, then
find the times required by each to complete the work individually?

Reasoning

¢ One Question on Syllogism.

18 March 1900 which day?

¢ One Question on No of Triangles.

3 Questions from Non-verbal Reasoning
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